
 

 :2 التمريه

 : التالية للمعادلات (  OXd/red )    الثنائيات حدد  -1

2Ag+  + H2                   2Ag  + 2 H+      

 2Fe3+  + 2 S2O3
2-                2Fe2+ + S4O6

2-     

2- acide/base

3-  

 (SI) 

C=10-2mol/l

mol-1k+= 7.35.10 -3 sm2
       mol-1Cl

-= 7.63.10 -3 sm2
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المستوى الثالثـة ثانوي/ تقني ریاضي 

المذة : ساعة و وصف  

 التقویم التشخیصي لمادة العلوم الفیزیائیة 

   الأستاذ : صـــالحي    

mourad
Oval

mourad
Oval

mourad
Oval



 

 

 : 3 التمريه

I2C1

2Na+ +S2Oˉ² 3 Na2S2O3

1

100mL mol/L C2 = 5.10ˉ²

2V1= 20mLI2

V2= 15,6mL

C2I2

M(Na)= 23g/moLM(S)= 32g/moL M(H)= 1g/moLM(O)= 16g/mol 

aq3S2Oˉ²aq6 S4Oˉaq)I 2(aq) / I ˉ

 

   الأستاذ :   صـــالحي    

mourad
Polygon

mourad
Urgent




